10.

Division Word Problems

Margo has 96p. Lollies cost 12p each. How many lollies can she buy? Can
she buy enough for her 10 friends?

Danny has a length of liquorice 144cm long. How many liquorice sticks
measuring 12cm can he make?

Reese goes to the fair with £1.50. How many tickets for the rides can he buy
if they each cost 10p?

There are 112 chairs in a school. How many chairs will each of the 8
classrooms have?

Mrs Potter bakes 245 brownies for the school fair. She sells them in bags of
5. How many bags does she have to sell?

Alison buys 120 bulbs to plant in her three flowerbeds. If she plants the same
amount in each flower bed, how many will there be?

There are 64 children going on a theatre trip to school. There are 8 minibuses
to take them. How many children are on each minibus?

Tommy finds 69p down the back of his sofa and decides to share it between
his 3 brothers. How much will each brother receive?

7 adults spend £154 on tickets to a theme park. How much does each ticket
cost?

Each firework Melissa buys lets off 9 stars. At the display, there are 81 stars.
How many fireworks did Melissa let off?



